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Answer all the questions in the Mathematics Activity book.

1. Find out the correct answer in its simplest form for the following questions with necessary
working.
1 1
a. —+3= b. 7+—=
6 2
(2 marks) (2 marks)
3 2
c. 1-+5-= d 4-:+4-=
4 9
(2 marks) (2 marks)
2 1
e. —+6= f. 3+2-=
3 5
(2 marks) (2 marks)
1 1 1
g 5 +2-= h. 3= +2- =
7 8 3
(2 marks) (2 marks)
2. Answer all the questions with necessary working.

a. Kali dug a 9 metres long vegetable garden. Later he decided to make small plots of

1 1
1 > metres in length. How many 1 > metres plot did he make?

(2 marks)

1 1 1
b. A4 Z metres of rope is equally cut into a Z metre piece. How many Z metre pieces of

ropes will be cut?
(2 marks)




